Name:

December 14, 2021

MATHS WORKSHEET

Sr: 14122021-2444

SATS
GCSEsS

11-PLUS

Y
{'”ﬂ'—)

1) 89 x 100 2) 3) Find perimeter of
a p triangle
h=1383, a= 6008
c m,
b=7342m,c=
8823m
Answer: Answer: Answer:
4) Find perimeter of 5) 4122 - 3476 6) Round 16.8758 to 2 significant figures.
sguare having each side
s (s) equals 9647 m
s
Answer: Answer: Answer:
7) 2 Iy 8) Find perimeter of 9) 01:39 am To 08:15 am
125 square having each side
() equals 7447 in
Answer: Answer: Answer:
10)  Increase 153 by Y/, 11) Factorise 3¢2 + 129+ 9 12) Round 7.365603655860 to the
nearest whole number.
Answer: Answer: Answer:
13)  371x323 14)  Increase 164 by 2/, 15 V
a 0 c

Answer:

Answer:

Measure angle boc

Answer:
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11-PLUS
SATS {wr‘)
GCSES \Z

16) 9869 - 4400

17) Round 8.51374991700471 to the
nearest whole number.

18) Find perimeter of
b rectangle having
sides a=9995 ft
a and b = 7336 ft

sidesa= 8723 ft
a and b = 8087 ft

Answer: Answer: Answer:
19) b 20) 21) Solve19s?-13s-15=0
37 _£= Round your solutionsto 1 decimal
place.
a 0 C Volume of Cone
Measure angle boa 30
Answer: Answer: Answer:
22) 936+ 78 23) Y14% g 24) Find perimeter of
b rectangle having
sidesa=8862 cm
a and b =7818 cm
Answer: Answer: Answer:
25) Find perimeter of 26) 3/, of 231 27) 3/, of 231
b rectangle having

Answer: Answer: Answer:
28) Convert the following fraction into a 29) Find perimeter of 30)
mixed number: 15/, . . triangles= 9811 in 38 Find Volume of
Cylinder
< 0
Answer: Answer: Answer:
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Name:

December 14, 2021

MATHS WORKSHEET %«' SATS

GEMERATOR

Sr: 14122021-2444

11-PLUS
3.0
{-E}

GCSES

31) Round 15.0222611 to 6 significant 32) Decrease40 by 1/20 33) What would you multiply by to
figures. increase an amount by 37%7?
Answer: Answer: Answer:
34) Convert the following improper 35)  Increase 267 by Ygg 36)  Increase 267 by Ygg
fraction 30%/,, + 357/, into amixed
number
Answer: Answer: Answer:
37) \ 38) 9796 x 4426 39) 4036 + (-6826)
Name the type of angle.
Answer: Answer: Answer:
40) 41) 18,6+ 49, 42)  $161.00 earning 7% compound
40 J Find Volume of Cone interest for 4 years.
S
39
Answer: Answer: Answer:
43) 1 4 0f 160 44)  What would you multiply by to 45) (3x48)/(6x 23

Answer:

decrease an amount by 5%?

Answer:

Answer:
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December 14, 2021

MATHS WORKSHEET

Sr: 14122021-2444

11-PLUS
3.0
{-E}

SATS
GCSEsS

46) 33x 100 47) W9, 48) Round 16.0176852 to the nearest
10000

Answer: Answer: Answer:

49) 3560.5 + 3865.8 50) Find perimeter of 51) Find perimeter of
square having each square having each
s side (s) equals 8919 ft s side (s) equals 8919 ft
s s

Answer: Answer: Answer:

52) Find perimeter of 53) 31 %5-13 9, 54) 5999 - (-6756)
square having each
s side (s) equals 8919 ft
s
Answer: Answer: Answer:

55)
Find Volume of
Cylinder

Answer:

56)  Write 500000 in standard form.

Answer:

57) 10115.6+ 836

Answer:

T/

‘Name the type of angle.

Answer:

59)  9%of 120

Answer:

60) Share 91 intheratio 4:87

Answer:
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SATS {ﬁf)
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61) Convert thefollowing fractioninto a
mixed number: 4%/, -

Answer:

62) Convert thefollowing fraction into a
mixed number: 4%/, -

Answer:

63) Convert thefollowing fractioninto a
mixed number: 43/, ¢

Answer:

64) Simplify 44:31

65) Round 11.9087 to the nearest 100

66)  9878- 7641

Answer: Answer: Answer:
67) 6798 + 5696 68) 2541 + 8193 69) Find perimeter of
triangle
b ¢t  a=7782in,b=
9386in,
a c=9726in
Answer: Answer: Answer:
70) Find perimeter of 71) 72) 18/ - 300
triangle Find Volume of
b ¢ a=7782in,b= Hexagonal Pyramid
9386 in, /32
a c=9726in
Answer: Answer: Answer:
7; - acl0 /-
73) 38//16+ 3515 74) 10 97 23,5 75) 7685 x 5170
Answer: Answer: Answer:
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Answer:

76)  09:07 am To 04:02 pm 77)  Convert the following fraction into a 78) 161Y,,+ 362/,
mixed number: 68/,¢
Answer: Answer: Answer:
79) 12 x 100 80) Find area of 81)
triangle 40_/ Find Volume of Cone
b b a=9293cm, b=
9619 cm ‘D
3 40
Answer: Answer: Answer:
82) 83) 84)
40 J Find VVolume of Cone 40 J Find Volume of Cone
— — '‘Name the type of angle.
40 40
Answer: Answer: Answer:
85)  606.7-2977.9 86) (6x I'Y) + (4x 105 87) (8x2%/(4x 88
Answer: Answer:

88)  (-2860) + (-65)

Answer:

89) What would you multiply by to
decrease an amount by 50%7?

Answer:

90) Round 26.732053 to the nearest 1000

Answer:
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Name:

December 14, 2021

Sr: 14122021-2444
11-PLUS

MATHS WORKSHEET%‘ SATS 20

GENERATOR

GCSES N2

91) 32 Y5-22 3

Answer:

92) Simplify 34:59

Answer:

93) Decrease 116 by /g

94)  Decrease 116 by %/cg

95) Convert the following mixed number
3718 11 Into an improper fraction.

Find Volume of

Cylinder
Answer: Answer: Answer:
97) 82 x 1000 98) 82 x 1000 99) 527 + 17
Answer: Answer: Answer:

100)  Share43intheratio 1:42

Answer:

Total: /100
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Name:

SATS
GCSES

December 14, 2021

MATHS WORKSHEET

SEMERA

1) 8900
8) 29788in

15) 25

22) 12

29) 29433in
36) 270
43)4

50) 35676t
57) 12.1
64) 44 : 31
71) 29264.730444684
78) Yl
85) -2371.2
92) 34: 59
99) 31
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2)24
9) 06 Hours 36 Mins

16) 5469

23) e
30) 163431.93302505
37) Acute
44)0.95
51) 35676ft
58) Obtuse
65) 11.91
72) 28y
79) 1200
86) 400006
93) 106
100) 1: 42

3) 22173m
10) 162

17)9

24) 33360cm
31) 15.0223

38) 43357096

45) 4096

52) 35676ft

59) 10.8

66) 2237

73) 1%y,

80) 37394911.550494cm
87) 536870912

94) 106

Answers:

4) 38588m
11) 39+ 9)(q + 3)

18) 346621t

25) 33620ft
32)38

39) -2790

46) 3300

53) 18%55

60) 1:90

67) 12494

74) 50

81) 16755.160819146
88) 44

95) 425/11

5) 646
12)7

19) 118

26)9

33)1.37

40) 15927.8747537
47) 424

54) 12755

61) 211/,

68) 10734

75) 39731450

82) 16755.160819146
89) 05

96) 25662.099590848

6) 17
13) 1198.33

20) 34871.678454847

27)9

34) 6519,

41) 1%,

48) 16.0177

55) 22619.467105847
62) 21 4

69) 26894in

76) 06 Hours 55 Mins
83) 16755.160819146
90) 26.732

97) 82000

7) 25
14) 172

21)s=13
or-0.6

28) 3%,
35) 270

42) $211.04
49) 74263
56) 5x 10°
63) 211/,
70) 26894in
77) 184
84) Obtuse
91) 101Y.g
98) 82000
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